S LAPPSET.

SENIOR

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D’INSTALLATION

DATE: 16.5.2019

080490M

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

#® LAPPSET.

SENIOR

080490M

DATE:

16.5.2019

Grid
e 4 o
.. . 8
+ + + +7

- 1600

EN/AS |

4

mpact Area 23.5 m2

4

4

éize +500+ mm+

4

4

4

. . . &5
~
T
+ + + +
+ + + +
. . . .
+ + + +
+ + + +
+ + + +
. . . .
+ + + +
+ + + +
+ + + +
+ + + +
+ + + +
+ + + +
+ + + +
+ + + +
+ + + +
+ + + +

4

4

4

4

4

4

.

400

s

4

.

T

+ ¥ ¥
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +

4

"
"
"
"
+ I +

+ OFfF

(o2}

+ n+

+ +

"

N

N

"

"

+ +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +
+ + +

.73 * *
B B B 3
.
o
L5
Te}
o
.
.
o
.
.
.




Copyright Lappset Group Ltd

#® LAPPSET.

SENIOR

080490M

DATE: 16.5.2019

4A

O

—

‘100
S
600

Sand 0.2—2 mm/
Gravel 2—8 mm

Concrete
700x700x150 v

100
000

H>
A

O oo | (N
©®@O /

TS 75 75 N\




Copyright Lappset Group Ltd

% LAPPSET. 080490M

SENIOR
DATE:  16.5.2019

E— EN/AS Impact Area 23.5 m2

1:75
I ..
- Falling Space 72.8 m2 0 3
Max Falling Height 1250 mm
9270
/
-

o
2 g
s 3
(i 0

+2280




% LAPPSET. 080490M

SENIOR
DATE:  16.5.2019

p Ltd

Copyright Lappset Grou

NN

N
. ?Lﬁ”
2N P 3

!
b

-
‘§t

§ | ¥
N >..




Copyright Lappset Group Ltd

#® LAPPSET.

SENIOR

080490M

DATE: 16.5.2019

DET 1

I

)

M10

905104

DET 2

905138

@ 26x60

(980131)
%ﬁg‘ 905196

DET 3

27x60
(980123)

27x60
(980123)

DET 4

THE WATER HOLE

705513
o =D

28x90
(903093)

DET 6

@7x60
(980123)

706453

DET 7

LLLLLLLLLLLLLL

907694

@8x70
(900240)

DET 8

DET 9

716,/8.4
(909256)

@7x60 e
(980123) :jjjjzzf

\




Copyright Lappset Group Ltd

8 LAPPSET. 080490M TOWER A

SENIOR
DATE:  16.5.2019 7

[<e]
o
A
[<e]
0]
/ & M

/] //I

/ 7{ //
=Y.
- =

ET
&




8 LAPPSET. 080490M TOWER A

SENIOR DATE: 16.5.2019 7a

@ 1:50

+1150
+1250

+1170 — Fley ] é: m +1160
+940 J | 0
+280 +160
t280 It
+0 +0 N +0
T - T 1 11

—7

100
100

+1150

Copyright Lappset Group Ltd

100




Copyright Lappset Group Ltd

#® LAPPSET.

SENIOR

080490M

DATE:

16.5.2019

TOWER B

7b

707859)
\

N/

706499\
\\ /,

905196

DET 2

707887




#® LAPPSET.

SENIOR

DATE:

16.

080490M

5.2019

TOWER B

7c

A

+410 N

1:50

I

+400
+0

+1250

+1200 ]

+0

l

+860

100

100

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

#® LAPPSET.

SENIOR

080490M

DATE:

16.5.2019

TOWER C

7d

008986

905196

(Vi




#® LAPPSET.

SENIOR

080490M

DATE: 16.5.2019

TOWER C

Te

A

+1170

1:50

+1250

+940

+170

+0

100

+1150

+0

100

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

#® LAPPSET.

SENIOR

080490M

DATE:

16.5.2019

TOWER D

Tf

DET 6




#® LAPPSET.

SENIOR

080490M

DATE:

16.5.2019

TOWER D

[£:]

A

1:50

+2150
+1620 l +1600
+1150 +1250 11050
1 I +280
+0 +0
| ” S
o o
(@] o
+170
+0

Copyright Lappset Group Ltd

100




707860
707861

o A\VAY

g

]

16.5.2019

%

706783

080490M

DATE:

#® LAPPSET.

SENIOR

X

ww

\ A.......____m\\_\\,wx\ \ O/\

07696

p17 dnoJg 3jesddp jybrAdon



% LAPPSET.
FINNO

707886

DATE:

20.6.2017

1(2)

DET 1
F% T-—  miox40
(901487)

©20/10.5x2
(901302)

M10
(909637)

DET 2

M10x35
(902252)

19x21x25
(903193)

220/10.5x2
(901302)

M10
(909637)

Copyright Lappset Group Ltd

ki

Muoviosan sijoitus (903193)
Position of the plastic piece

(1) 903191 [pcs|(2) 901487 [pes
2 3
&
| wmioxao | ]
PCS PCS
PCS PCS
PCS PCS
PCS PCS
PCS PCS
PCS PCS
PCS PCS




% LAPPSET.
DEEP FOUNDATION

FOOT

DATE: 13.3.2014

4A

Copyright Lappset Group Ltd

100

c 00




Copyright Lappset Group Ltd

% LAPPSET. FOOT

BETON FOUNDATION o

27.10.2015

(2) 905104 |pcs

)

M10




% LAPPSET.

FOOT

DEEP FOUNDATION DATE:  15.5.2018 1(1)
@ (D 909511 |pes|(2) 909519 |Pes|
1
909511 /911155 H
MTOx25 o ) 90x90x650 | | 50x380x380 | |
(909639) (3) 909637 [res|(4) 909638 [pcs|
4 8
@20/10.5 )
(909638) ~ \m# =
£ ! - -
N \\;%%} M10 220/10.5
S E () 909639 |rcs|(5) 905104 [pcs|
S 4] 4]
Miox25 | | M0 | |
/
OPTION FOOT
9095719 MT0O
(D 911155 |ees pes
(909637) & ]
90x90x650

Copyright Lappset Group Ltd




% LAPPSET.

FINNO

FLOOR

Copyright Lappset Group Ltd

DATE: 28.11.2014 1(1)
(1) 008986 |Pes|(2) 706443 |pes
1 2
IR - 2]
NS — —
i 750x750 32x45x702
s (3) 900240 [pes|(4) 980101 [pcs]
8
DET 1,23 28x70 24.5x70
PCS PCS
PCS PCS
PCS PCS
DET 1 DET 2 DET 3
Naulanauha kannatinlistan puole|le.
04.5x70

1

(980101)




% LAPPSET.

DIAG. FLOOR

Copyright Lappset Group Ltd

FINNO DATE: 28.3.2014 1(1)
(1) 008985 |pes|(2) 706508 |pcs|
1 3
32x714x714 | | 32x45x650 | |
(3) 900240 |pes|(2) 980101 |pcs|
6
DET 1 9 =
DET 2 o8x70 | | wa5x70 | |
DET 1
DET 3
U¢ %
N
WL ?8x70
UJ (900240)
DET 2 DET 3
/706508 @4.5x70
(980107)

(900240)




3% LAPPSET.

BOOM

FINNO DATE:  21.3.2014 1(2)
o~ (1) 706510 $@ 907724 ?
M / ” J
45x120x1030| | ]
(3) 905083 |pcs|(2) 909866 |Pes|
4 4
DET1 -3

e

232 M8x60
(5) 980151 [pes|(6) 980150 |Pes|
4] 4
=\ |

‘ ©)

| @
o16/8.4 | | -
(7) 905112 |pes|(8) 900240 |pes
i i

222
BOOM OPTIONS
706510 706510-602  DARK BROWN
T T I 706510—-605  LIGHT BROWN
706510-604  LIGHT GRAY
45x120x1030

Copyright Lappset Group Ltd




% LAPPSET.
FINNO

BOOM

DATE: 21.3.2014

2(2)

DET 1

DET 2 M3x60

(909866) /
S A

(980151)
M8

(980150)

90//724

905112

DET 3

=

[\

Q

Z]
B8x /0

(900240)

Copyright 1998 Lappset Group Ltd




% LAPPSET.

DESK / SEAT

FINNO DATE:  25.1.2019 1(2)
l (1) 706783 |pcs|(2) 907783 [pes]
1 2
St B |
15x170x700 120x40x180
706783 (3) 900240 |pes|(2) 909868 [Pcs|
4] 4]
gex70 | | Mexso | |
(5) 909256 |pes|(6) 909633 |Pcs|
8 4
)
907783
o16/8.4 | | M | |
(7) 905103 |pes|(8) 905112 |Pcs|
2] il
PT-28/32-H| | @22 | |
1:20 1: 20
175
b—% o o \E_u
~ <
N N
o
M
— 0
(@) N~
&

Copyright Lappset Group Ltd

800




Copyright 1998 Lappset Group Ltd

% LAPPSET.

FINNO

DATE: 25.1.2019

DESK / SEAT

2(2)

DET 1

Pre—drill hole
Fsireika

25750
90/7/785
E 216 /8.4
° (909256)

WEx /0
(900240)

DET 2

90/ /85

/

“m

900105

DET 3

905112 MEx50

(909868)

- — (3083%)
T M8

(909633)




% LAPPSET.

BRIDGE

Copyright Lappset Group Ltd

FINNO DATE:  24.8.2015 1(3)
DET 1, 2 (1) 706453 |pes|(2) 707255 |pes
. S 2]
15x145x600 | | 45x120x2480| |
(3) 707260 |pes|(4) 905083 |pcs|
§ M i ) i
‘ 2375x600 | | @32 | |
(5) 980151 |pes|(6) 909232 |pcs|
U il 4
Y
DET 1, 4 § § o16/8.4 | | sx20 | |
(7) 905112 |pes|(8) 900240 |pcs|
4 16]
- @22 | | esx0 | |
(9) 980123 |pes|i0) 980128 |pes
DET 1, 2 — —
E 201
o7x60 | |
(17 980150 |pcs




% LAPPSET.

BRIDGE

Copyright 1998 Lappset Group Ltd

FINNO DATE:  24.8.2015 2(3)
1: 30
oy = o = o
I {
I {
== == == == ==
AR i i 1 I
1 2400 1
1: 30
(@
g
[(e
Vi i 1 1 1
\ 2320 \
NET OPTIONS
707260 707260—301 BLUE
707260—-302 RED
707260—303 BEIGE
707260—-304 GRAY
707260—305 BLACK
707260—-306  YELLOW
2375x600
RAILING OPTIONS
707255 707255—-605 DARK GRAY 707255—-609 GREEN
707255—-606 GRAY 707255—-610  YELLOW
707255—-607 RED 707255—-611 LIME
707255—-608 BLUE 707255—612  FUXIA
45x120x2480




8% LAPPSET.

BRIDGE

FINNO DATE: 24.8.2015 3(3)
DET 1 DET 2
o i in side
Lk
Sx120
909232
{ S <j\ 9
O ~ 905112 yyf
N o Ny
i -
= {_J : . (980151)
m 905085
DET 3 DET 4 \
N NN
/x40 e \ N
C%@U%>\\\ e 7 T X
B7x60 \ | / <N
. )

/

DEX/
(900240)

)
A
( ':A/
&

Copyright 1998 Lappset Group Ltd

MBx4> -

(901899)

DET 6




Copyright Lappset Group Ltd

% LAPPSET.

FINNO

707729

DATE:

17.3.2016

1(1

)

(1) 909850 |pes|(2) 909633 |pcs|
3] 3]
)

> 5
M8x25 | | M8 ]
(3) 900240 |pes| pes
O | ]
@8x70 | | ]
PCS PCS
(O 707696 |pcs PCS

(O 902086

15%x265%x275

148x172x254

PCS

PCS

25 1 40
(4x)

|

PCS

PCS

PCS

PCS




Copyright Lappset Group Ltd

% LAPPSET.
FINNO

707785

DATE:

21.4.2016

1(1

)

(1) 980123 |pcs|(2) 909256 |Pos|
8 8]

<E &
o7x60 | | ote/8.4 | |
PCS PCS
PCS PCS
PCS PCS
(O 705566 |pes(C) 705590 |[pes
140x120x2294]  [120x200x2294 |
(O 905780 [pes|() 905761 |pes

SURFACE

DET 1

DET 2

0 /x60
(980123)

(909256)

@

<

016/8.4 /




Copyright Lappset Group Ltd

3% LAPPSET.

707887

FASTENER KIT DATE: 13.3.2019 1(1)
(1) 980160 |pes|(2) 901899 |Pes|
< | 8] 8]

® 5
mMe | | wmexas | |
(3 903093 |pes|(4) 909256 |Pcs|
5 8

v
@8x90 | | o16/8.4x1.6| |
(5) 980101 |pcs Pes|
9 -
04.5x70 | | ]
(O 707855 |pes() 707856 |pcs|
2 | hdl
15x600x350 | | 45x120x672 | |
(O 707857 |pes|() 707858 |pcs|
4] 1]

=
; ’i \
T 11 32x45x245 | | 45x45x540 | |
(O 704431 |pes|(C) 704341 |pes|
1 1
= | | = | |
DET 1 DET 2 DET 3

(upper step) ﬂ

216 /8.4
M8




Copyright Lappset Group Ltd

% LAPPSET.

FASTENER KIT

707888

DATE: 22.4.2016 1(3)
B (1) 980128 [pes|(2) 900240 [pcs]
E 4] 12|
o7x40 | | w8x70 | |
(3) 903093 |pes|(2) 906942 |pes
M ) % )
g8x90 | | ]
(5) 980101 |pes|(6) 980104 |pes
18] il
/
245x70 | | @5x90 | |
PCS PCS
PCS PCS
<T\> 1760 — _—
3 B
N () 707862 |pcs PCS
2] -
<:i> \
32x45x1700 | | ]
(O 707861 [pes|() 707860 |pes
3] 2]
750x590 | | 45x120x1785| |
(O 704341 [pes|() 704431 |pes
. 1] 1]
— = || = |




Copyright 1998 Lappset Group Ltd

% LAPPSET.

707888

FASTENER KIT DATE:  22.4.2016 2(3)
DET 1 DET 2

| 4,5%x70
DET 3 DET 4

@Ex90

906942

N\




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FASTENER KIT

707888

DATE: 22.4.2016

3(3)

DEEP MOUNTING (704431)

DET 5

DET 6

DET 7

DET 8




Copyright Lappset Group Ltd

% LAPPSET.

707895

SPORT DATE: 18.4.2016 1(1)
(1) 909629 [pes|(2) 909638 |pes
4] 4]
(o
MIOx30 | | @20/10,5 | |

130

500

DET 1




Copyright Lappset Group Ltd

% LAPPSET.

FOOT 120x120 POST & BEAM

CONC. FOUNDATION oate: 214201 4A
(1) 905104 |pes| Pes
4] -
0)
T 08400 (x2) s ; ;
- Hall A 500 HW — ]
L= IS} | |
\/
) — -
Q | I
0 %O /Of o) Q [ N
O S S % O
L) 0 O"OD OfQ Q, ’ — —
M) ) 790 = SOfQ © v PCS PCS
SN N N SN N DN O N N N N X - -
o00x500 a o
| (O 905761 |Pes Pes
Concrete / Betonl K30 j!i B B
CONCRETE
J/x60
(980123)
~
6 A6
M10 S Ny
o0sion . E o |
o 016 /8.4 LTS
905761 (909256)
x
N
"




11.5.2017

LAPPs

g ot
ity Mﬂnvmxm

o

123 po
RS oy
Tierg ,;“*"

o
Nz

LAp
gg:lgm?? ET Groy t
FINLANS VANIE d

123456

W4 py
F567g9

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit

- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 2 mukaisesti.

2) Tuotekylttitarra

- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 3 mukaisesti.
- Huom. Al3 kiinnita tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av féljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

-Rengérdenpulverlackerademetallytanellerlaminatytansaattdenblirfrifransmutsochfukt. Fastetikettenenligtfig. 3.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker

-Cleanthepaintedmetalorplywoodsurfacefromdirtandmoisture.Fastenthestickerasshowninthefigure3.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a l'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre séche (voir image 3).

- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliére ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben

- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-EntfernenSiezunachstSchmutzundFeuchtigkeitvomlackiertenMetallbzw.vonderHolzoberflacheundbringenSieden

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTDP.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 |

lappset@lappset.com | www.lappset.com



Copyright Lappset Group Ltd

% LAPPSET.

704431

CLOXX & FINNO DATE:  8.7.2015 1(2)
= (1) 707133 |pes|(2) 901868 |pcs|
2
10x80x745 @30x598 | |
(3) 908021 |pes|(4) 909210 |pcs|
4
(D
MBx40 | |
(5) 909256 |Pes|(6) 905051 |pes
4
216,/8.4 @24/8.4 | |
(7) 909855 980160 |pcs
4
W
M8x35 ms | |
DET 1
v

DET 2




Copyright 1998 Lappset Group Ltd

% LAPPSET.
CLOXX & FINNO

704431

DATE: 8.7.2015

2(2)

DET 1
M8x40
(909210)
924/8.4 — //
(905051)
M8
(980160) L
716 /8.4 M8x35
(909256) (909855)
DET 2
901868
@ (905051)
\M
(909210)
DET 3
O
O
O
! )
i1 A ‘ 7
B D”\ QQ R QQ Q QQ b N
Qe = QQ ‘ Q R ‘QQ
PQ Q 99 Q4 FaQ aQo Qy\\<< »
e s B 2 Q9 SO L B
Va
/00




Copyright Lappset Group Ltd

#® LAPPSET.

FINNO

707894

DATE: 9.5.2019

1(3

)

DET 1

(1) 980123
DET 4

@7x60

Pes|(2) 909256

216 /8.4

PCS

(3) 909633

M8

ms() 900859

-

M8x90

pes|(5) 909867

Pes|(C) 707893

755x1555

DET 1

END PART

) | F—

350

B7x60
(980123)

Use these
screws only in
the end
section

(909256)




Copyright Lappset Group Ltd

8% LAPPSET. 707894
FINNO DATE: 9.5.2019 2(3)

M3

@ .
& & &
285\i/310 % I
@ :
900859
DET 3 (- = ) ah YENEIS
&/ (&) &
: : : / 900859
\/@\} ™ m ®
"
ME  /

70

909655




Copyright Lappset Group Ltd

% LAPPSET.

707894

FINNO DATE: 9.5.2019 3(3)
DET 4 MEx /0
/ 90986/
285 i 310 : 310 @
@ I
M &

(L2 @f”_ﬁ

./

909655

Drill the necessary holes in the booms

(Dets 2-4)

30

710




% LAPPSET.
GROUNDING

705101

DATE:

1.9.2017

1(2)

Copyright Lappset Group Ltd

750

750

Pes|(2) 900958 [pcs|
4 8
] mioxso | ]
pes|(4) 905993 |pcs|
4 !
pes|(6) 909255 |pcs|
4 8
| @30/105 | |
PCS PCS
12

510




Copyright Lappset Group Ltd

% LAPPSET. 705101

GROUNDING DATE:  1.9.2017 2(2)

DET)/2

DET 1

DET 3

OPTIO 1

+0

—t
510

DET 3

OPTIO 2 (WITH CONCRETE)

Concrete
000x600x200

\//N\ X
T o ® o v

+0

510






